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	NAME (printed):
	


	QUESTION
	SC

	Build a heap from the following data set by inserting the elements (read the elements from left to right) :
17, 45 , 23, 67, 1, -10, 8 , -8 , 11, 12

	 3


	Build a Binary Search Tree with the data from the previous question ( again: read the elements from left to right) :


	3

	Elements from a heap are always removed from the root. Please remove 2 elements from the heap built in question 1.
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	A heap is a useful data structure to
- store data in a memory efficient way

- look for the minimum

- check if a certain data element is present in a data set

- it’s a special case of a binary search tree with less implementation effort
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